Ol N
JVIECHANISMS =5 i s

3300 COIN BOX

e Completely self-contained coin box e Optional features include:

system —timer assemblies:
. . . hanical

e Coin box and insert standard with gold * mec L :
baked enamel finish; other colors * ?ég%';:mc with accumulating
available on special order — counters

e Coin insert also available in polished —locking cash box
chrome finish —coin blockout coil

—keyed a-like locks

e Complete domestic, foreign and token —indicator lights

coin mech systems

¢ Available with our new Coin
Comparitor ... Simply the Best!

* Quick release latches for easy coin
mech removal



3300-400 1 thru 4 Coin Insert Ass’y. (Specify Color/Coinage). DRWG. NO. [ PART NO. DESCRIPTION QTy.
1700-30-C 14 and 15, 20 thru 29 25¢ Channel/Ass’y. Comp. 1 3300-5 Plunger for Insert 1
1700-135 21 thru 26, 28 Switch & Chute Ass’y. 2 133006 | Plunger Spring !
3 3300-4 Coin Insert 1
(Specify Color/Coinage)
4 3300-34 “C” Washer 1
5 3300-7 Counter (Specify Voltage) 1
6 108-6-5A | 6-32 x s Binder Hd. Screw 2
7 101-4-2 4-40 x 'k Phillup Pan Hd. 2
Screw
/1 8 3300-3 Coin Return Cup 1
9 3300-48 Counter Base Plate 1
F 10 3300-2 Mounting Plate 1
If 11 114-8-3 8-32 X %e Hex Hd. Screw 4
¢ 2 ; 12 100-8-3 8-32 x %se Rd. Hd. Screw 2
\ - 13 3300-IN Coin Box (Specify Color) 1
¥ ‘ 14 1700-2 Latch Spring 2
e L7 <\ s 15 1700-134 | Midget Channel 1
<7 2 RN 16 209-8-4 8-32 x ' Hex Thread 2
8 l“j» o T Forming Screw
\ b }9 e Ly AN 17 188-6-2 6-32 x ' Rd. Hd. Screw 2
/J ‘ 9/ b < :\\ . 18 950149 Lock with Mtg. Hardware 1
( 4 4 | 19 7500-6 Yhe" Spacer 1
| ‘ 1700-5 Spacer 1
i 400-4 4-36 x 'h Hex Nut 2
l 1700-6 Switch Plate 1
1700-7 Lower Switch Chute 1
7300-100-1| Blue Switch 1
1700-23-C | 25¢ Clip On Switch Wire 1
100-4-12 4-36 X % Rd. Hd. Screw 2
100-6-7¢ 6-32 x ’hs Rd. Hd. Screw 2
1700-16 Upper Switch Chute 1
130 25¢ Mech. 1
3300-16-1 | Cash Box 1
Block Out Coil 1
(Specify Voltage)

3 5/8°
b o2
92.075mm

3 5/8°
92.075mm

.200° DIA. /
(8 HOLES) Smm

113/4°
208.45mm

13 11/16
347.66 mm

ﬁl;
|
,_ﬂ_‘ T 7 r 2
R A + j
| to ey
) | .
ol | wlg
E Il | i~
@ |
| e T
| /\ f | o !
& H T9mm o
© L \ t K IR fg,v‘
7/16* e
o I Timm O ©|€
i I T ::
q 3 -8
H wlE ® ‘ ~®
i ey 1.15/18°
i e - 49.21mm
E L]

‘ '

142.875mm

7 5/18°

185.74 mm



